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PAIR OF STRAIGHT LINES

1. Joint equation of co-ordinates axes, in a plane is
Az —y =0
B.z> +¢y* =1

Czy=20


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_nEpFJKGsaL59

D.xy=x +vy

Answer: C

o Watch Video Solution

2. Joint equation of two lines both parallel to X-axis,

and each at a distance of 2 units from it is

Az’ —4=0
B.y? —4=0
Cz?—y’> =14


https://dl.doubtnut.com/l/_nEpFJKGsaL59
https://dl.doubtnut.com/l/_x1hAtTubrcbS

Answer: B

o Watch Video Solution

3. Joint equation of two lines both parallel to Y-axis and

each at a distance of 3 units from it is

Az —9=0
B.y>’—9=0
Czl—y*=9
D.y* +9 =10
Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_x1hAtTubrcbS
https://dl.doubtnut.com/l/_oqRsKTZ1dAb8

4. Joint equation of two lines, through the origin,
having slopes 2 and —2 is

A z? — 4y2 =0

B.dz? —y* =0

C.x?— 2y2 =0

D.2z° —y* =0

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_oqRsKTZ1dAb8
https://dl.doubtnut.com/l/_nE71HLeJFVo9

5. Joint equation of two lines, through the origin,

having slopes /3 and 1
aving siopes ana —— IS
V3

A \/3(332 — y2) + 22y =0
B.\/§(w2 + yz) — 2z =10
C. \/3(:22 — yz) —2zy =0

D. \/3(:1:2 + y2) + 22y =0

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_gAfSRZ92t5zu

6. Joint equation of two lines, through the origin, such
that one of them is parallel and the other
perpendicular to line 2z + 3y +c = 0is

A.6z> — bry — 6y° =0

B.6z° — 5xy + 6y° = 0

C.6z% + by — 6y> =0

D. 6z% + 5zy + 63> = 0

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_S2xcsDmPbJgc

7. Joint equation of two lines through the origin, such
that one is parallel to line x + 2y = 5 and the other
perpendicular to line2x —y+ 3 = 0is

Ax?—dr — 4y =0

B.x? —4dxy+4y* =0

Czl+4dey—4y* =0

D.z? + dxy+ 44> =0

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_6Bewu69xUFaL

8. Joint equation of lines bisecting angles between co-
oridnates axes is

A z? + y2 =0

B.z? —y? =0

C.z? — 2y2 =0

D.m2+y2:1

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_pwqmZ2SYRpU0

9. Joint equation of lines, trisecting angles in first and
third quadant is

A3z —y’) —4z =0

B. \/3(.7;2 — yz) +4zy =0

C. \/3(:1:2 + y2) +4zy =0

D./3(z* +y*) —4zy =0

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_xzraAFQscMbK

10. Joint equation of lines, trisecting angles is second

and fourth quadrant is
A 3(2° +y°) —dzy =0
B. \/3(.7;2 — yz) —4xy =0
C. \/3(:1:2 + y2) +4zy =0

D.4(z” + y°) + /3zy =0

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_EJgrr6HOUg1E

11. Joint equation of two lines, through the origin, each
making an angle of 30° with the X-axis is

Az -3y =0

B.3z2 —¢y* =0

C.22% — 3y = 0

D.3z° —y’ =1

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_vUgB5hZYlqGs

12. Joint equation of two lines, through the origin, each
making an angle of 30° with the Y-axis is

Az -3y =0

B.3z2 —¢y* =0

C.22% — 3y = 0

D.z° +3y* =1

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_r2clS5vBnfiP

13. If two lines az?® + 2hzy + by’ = 0 make equal
angles with a co-ordinate axis, then

A h=0andab >0

B.h # 0andab < 0

C.h# —0andab >0

D.h =0andab < 0

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_GXluEf0REMeQ

14. If two lines az® + 2hay + by’ = 0 are equally
inclined with co-ordinate axes, then

A.h=0andab < 0

B.a=12»

Ca= +b

D.a> +b =0

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_liTKEBNp3xCb

15. If pairs of opposite sides of a quadrilateral are
2> — Tz +6=0 and y?>—14y+40=0 then
equations of its diagonals are

A. 6x + by = 56, 5 + 6y = 14

B.6x + 5y = 56, 5y — 6x = 14

C.6xz — 5y = 56, 6 + 5y = 14

D.6x — by = 56, 6z — 5y = 14

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_KhmxZmnBeXy8

16. Separate equations of lines, whose combined
equation is dz? — y2 + 2x +y = 0are
A¢+y+1=0,2z4+y=0
B.2r —y=0,224+y+1=0
Cex—2y+1=0,z+2y=20

D.2z —y+1=0,z —2y=20

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_jPZr6zEk3sMI

17. Lines jointly given by z? —9y°> — 2z + 3y =0

intersect each other in the point

A—11
"\ 26

B. (—1 —1)
2’ 6
C. (—1 —1>
2’ 6
D. (—1 —2)
3’3
Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_F78jPnedW126

18. Lines jointly given by 42 — y* + 2z + y = 0 meet

each other in the point

B.

(%%)
“(72)
(

D.

Y

~— |-

N
N =

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_lSBHS9uDQBd2

19. Lines whose combined equation is

xy + 3z — 2y — 6 = 0 pass through the point

A. (2, 3)

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_cA40hldMvspL

20. Combined equation of pair of lines, through (1,2)

and parallel to co-ordinate axes is

Azy—2z—-—y+2=0

B.zy+2z —y+2=0

Czy+2x+y+2=0

Dzy+2x+y—2=0

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_tFOFdIpB0xbN

21. Equation (z 4+ y — 1)° — 42% = 0jointly represents
two lines, drawn from the point

A.(1,0)

B. (0, 1)

C.(0,0)

D. (1, 1)

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_jImJICiIFFVh

22. Separate equations of lines jointly given by the
equation z? + 2zrycsca + y2 = 0 are

A zcosa+ y(l £sina) =0

B.zseca + y(1 +csca) =0

C.xtana + y(ltcota) =0

D.xzsina + y(1 + cosa) =0

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_K0Jk7hzrE8PW

23. Separate equations of lines jointly given by the

h
equation hzy + gz + f—hy + f=0are
g

—fh —g
A = — _— —_—
Z g Y A
f —g
B. = — = —
Z 7y h
—f —g
o= T’h ~ h
D. fg = ch
Answer: A

° View Text Solution



https://dl.doubtnut.com/l/_hIw4Je7XXrVH

24. Joint equation of lines, through the origin, making
an equilateral triangle with linexz = 1 is

A. 3z% — y2 =0

B.z? — 3y =0

Cz?— 3y =0

D.3z% +¢* =1

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_OvUcSnrJxZ9d

25. Joint equation of lines, through the origin, making
an equalateral triangle with liney = 2 is

A. 3z% — y2 =0

B.z? —3y? =0

C.3z:—y*=0

D.z° +3y* =1

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_kuzqVQj1eGqD

26. Combined equation of pair of lines, both passing
through (1,0), and each makingk an angle of 30° with X-
axis, is

A(z—1)7—-32=0

B.z? — 3y =0

Cz?—-3y—1)°%=0

D.3z(z — 1) —32 =0

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_1ern8d45pouY

27. Combined equation of pair of lines, both passing
through (0,1), and each making an angle of 60° with X-
axis is

Azl —3(y—1)7° =0

B.3z2 — ¢y =0

Cy—1)7°—-322=0

D.z2 +3y°> =0

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_srwa1UfFaS3m

28. The equation of two straight lines through the
point (z1,y;) and perpendicular to the lines given by

az’ + 2hzy + by’ = 0, is

a(y — 1)’ +2h(z —21)(y — 1) + bz —21)* =0

a(y —y1)> — 2h(z — 21)(y — ) + b(z — z1)* = 0

b(y — 1)’ +2h(z —21)(y — 1) +alz —21)* =0

a(x — 1) + 2h(z — 1) (y —y1) + by —y2) =0


https://dl.doubtnut.com/l/_RHl9nRwqGQpM

Answer: C

o Watch Video Solution

29. The equation of two straight lines through the
point (z1,y;) and perpendicular to the lines given by

az? + 2hzy + by® = 0, is

bz —21)> +2h(z —2)(y— 1) +aly—y)> =0

b(z — )" —2h(z —21)(y —y1) +aly—y)* =0


https://dl.doubtnut.com/l/_RHl9nRwqGQpM
https://dl.doubtnut.com/l/_JxbGcSSntteg

a(z —21)? —2h(z —2)(y— ) + by —y1)> =0

a(yr —y2) —2h(x —z1)(y— 1) + b(x —x1) =0

Answer: B

o Watch Video Solution

30. Joint equation of two lines through (2,-1) parallel to

two lines 2z* — 3zy — 9y? = O'is

A2z* —3zy+ 9y’ — bz — 24y — 7 =0

B.222 —3zy —9y> — 5z — 24y —7=0


https://dl.doubtnut.com/l/_JxbGcSSntteg
https://dl.doubtnut.com/l/_3bB1ci8WAD4g

C.2z% +3zy — 9y — 5z — 24y — 7 =0

D.2z2 + 3zy — 9y? — bz — 24y — 7 =0

Answer: C

o Watch Video Solution

31. Joint equation of two lines through (2,-3)
perpendicular to two lines 3z + zy — 2y* = O'is
A 222 + 2y — 3y — bz — 20y — 25 = 0
B.—2z22 —zy+3y> — bz — 20y — 25 = 0
C.3z% + 2y — 2y® — 5z — 20y — 25 = 0

D.2z? 4+ zy — 3y® + 5z + 20y — 25 = 0


https://dl.doubtnut.com/l/_3bB1ci8WAD4g
https://dl.doubtnut.com/l/_ujIUD0Fi8AWp

Answer: A

o Watch Video Solution

32. If line 4z — 3y = 0 coincides with one of the lines
az? + 2hzy + by = 0 then

Ada+2h—3b=0

B.16a + 24h + 96 =0

C.9 + 24h + 16 =0

D.8& +h —6b=0

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_ujIUD0Fi8AWp
https://dl.doubtnut.com/l/_BXWPo8yTpOe8

33. If one of the lines 2z% —zy+ ky? =0 is

x — 3y = 0then k =

B.5
C.15

D.—15

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_BXWPo8yTpOe8
https://dl.doubtnut.com/l/_X4M7i9Zn8Xs4

34.If line lx + my + n = 0 is perpendicular to one of
the lies az? + 2hzy + by? = 0 then

A.am?® + 2lhm + bl2 = 0

B.al* + 2lhm + bm?* = 0

C.bm* — 2lhm + al> = 0

D.la% + 2hm + nb® = 0

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_qZ8GK0BU9tHm

35. If one of the lines 222 —zy— 15y =0 s
perpendicular to line kx + y = Othen k =

A1l

B.2

C.3

D.4

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_c0gRztLhs2Gs

36. If one of the lines 6z? +exy+y?> =0 si

y+ 2z = 0thenc =

D.5

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_TLFM5lZk1KIx

37. If sum of slopes of lines z® + kzy — 3y> = 0 is

twice product of slopes then k£ =

C.1

D. 2

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_eAPDI0CCKv34

38. If sum of slopes of lines kz® — 10zy — 9y* = 0 is

live tme their product, then k£ =

A2

B.1

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_CLElCFCd6DZb

39. If slope of one of the lines 322 + 4zy + Ay? = 0 is

thrice slope of the other line then A =

A 2

B.1

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_LC9noOvTAByb

40. If slope of one of the lines az? + 2hay + by® = 0
is k times slope of the other, then ab(1 + k)2 =

A. 2kh?

B. 2k°h

C.4k*h

D. 4kh?>

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_0aG5RSeUXPcH

41.If slope of one of the lines az? — 2hzy + by? = O'is
square of slope of the other then

A.ab(a + b) + 6abh + 8h* = 0

B. —ab(a + b) — 6abh + 8h> = 0

C.ab(a + b) + 3abh + 4h> = 0

D.ab(a — b) + 6abh — 8h° = 0

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_9EsaxGQZjIdG

42. If slopes of lines 3z* + khy — y* = 0 differ by 4
then k =

A —2

B.2

C.+2

D. £2./7

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_Vtb3zVVPt1BR

43. The difference of the slopes of the lines

3z — dzy +y> = 0is

Al

B.2

D.3

Answer: B

o Watch Video Solution

44.Slopes of lines 6z% — zy — 2y* = 0 differ by


https://dl.doubtnut.com/l/_hG0KiHoxh2lh
https://dl.doubtnut.com/l/_gGusjJca8h1j

Answer: D

o Watch Video Solution

45, Joint equation of two lines through the origin each

making angle of 30° with line x +y = 0, is

Azl —dzy+y =0

B.z’ +4xy+y> =0


https://dl.doubtnut.com/l/_gGusjJca8h1j
https://dl.doubtnut.com/l/_jCkXlhK8q88r

Cz?—dzy—y?> =0

D.z2 +4dzy —y* =0

Answer: B

o Watch Video Solution

46. Joint equation of two lines through the origin each
making angle of 60° with linex — y = 0, is

Azl —dzy—y =0

B.z? —dzy+y* =0

Czl+4dzy—y?> =0

D.z°> + dzy +y* =0


https://dl.doubtnut.com/l/_jCkXlhK8q88r
https://dl.doubtnut.com/l/_idPs9rNnZWjC

Answer: B

o Watch Video Solution

47. Joint equation of two lines through the origin, each
making angle of 45° with line3z — y = 0 is

A 2z? — 3zy — 2y =0

B.2z2 + 3zy + 4y* = 0

C.22° +3zy— 242 =0

D.3z2 + 2zy — 3y? =0

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_idPs9rNnZWjC
https://dl.doubtnut.com/l/_fVKFKP98HDgT

48. Measure of angle between the lines 3xy — 4y = 0

is

A.30°

B.60°

C.90°

D.120°

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_fVKFKP98HDgT
https://dl.doubtnut.com/l/_gRSz8X3NvegK

49, Measure of angle between the lines

xy—bx +4y—20=0is

N[N w3 a3 ol

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_kxI3mskdToXp

50. Measure of angle between lines

z? — dzh + 1y = 0is

o3 w3 w3 |

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_oExOEFmZRLYv

51. Measure of angle

3z% — 8zy — 3y = 0Oiis

S EENERSERSIE

Answer: A

between

lines

° Watch Video Solution



https://dl.doubtnut.com/l/_dtbtdEYiDgfD

52. Measure of angle

z? + 2zxseca +y® = 0is

Answer: B

between

lines

° Watch Video Solution



https://dl.doubtnut.com/l/_s6yyJ7nzPin7

53. Measurement of angle

z? + 2zycsca + y? = 0is

Answer: A

between

lines

° Watch Video Solution



https://dl.doubtnut.com/l/_0MWOZExF6mPB

54. Measure of angle bewtwen lines

(3+ 2\/3):82 —2zy —y? = 0is

o3 w3 w3 |

Answer: C

° View Text Solution



https://dl.doubtnut.com/l/_nIUZkAY8VXNE

55. If equation 8z* — 3zy + Ay®> = 0 represents two

mutually perpendicular lines, then A =

A3

B.8

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_tXQw4Ni7tHtd

56. If acute angle between lines 2> — 2hzy + y* = 0 is

60° then h =

B.£2

C.2

D. /3

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_GknkMxBjpJn4

57. I lines 2z% + 8zy + ky® = 0 are coincident then

k =

A.8

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_4tQDBZs9Cw1h

58. The lines a’z® + bey® = a(b+ c)zy will be

coincident , if

Aa=2>
B.b =c
C.c=a
D.b% = ac
Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_CGn9owWlwzEA

59. If the acute angle between the lines
az® + 2hzy+by’> =0 is 60°, then show that
(a + 3b)(3a + b) = 4h>.

A. h?

B. 2h°

C. 3h?

D. 4h>

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_9R00IX3qTeld

60. If acute angle between lines az? + 2hzy + by® = 0
is %,then 4h? =

A a® + 4ab + b

B.a” + 6ab + b’

C.(a + 2b)(a + 3b)

D. (a — 2b)(2a + b)

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_3QaEdRl7LRKe

61.If acute angle between lines az? + 2hzy + by® = 0
. T 2 2
is E,then a” + 14ab + b* =

A. 4h*

B. 8h?

C.12h?

D. 16h2

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_OUUMlSAbJIZF

62. If acute angle between lines az?® + 2hzy + by® = 0
is congruent to that between lines
2¢° —5zy+3y> =0 and k(h®—ab) = (a+ b)*

then k =

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_XNVe89tFvQ2Y
https://dl.doubtnut.com/l/_iDgmDooCgo77

63. If acute angle between lines az?® + 2hzy + by® = 0

is congruent to that between lines
322 — Tey + 4y? = 0 and (a + b)° + k(h® —ab) =0
then k =

A —(14)?

B. (— 14)°

C.—14

D.14

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_iDgmDooCgo77

64. If acute angle between lines 3z? — dxy + by2 =0
is cot "12, thenb =

A l, —55

B.—1, 55

C.15, — 5

D.1, — 54

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_SxKGgRplkEKt

65. If one of the lines denoted by the line pair
az’ 4+ 2hzy + by® = 0 bisects the angle between the
coordinate axes, then prove that (a + b)* = 4h?

A (a — b)* = 4h?

B. (a + b)* = 4h?

C.4ab = h?
D.b* = 4ah
Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_eqkRPiKjwMtQ

66. If slope of one of the lines az? + 2hzy + by® = 0is
twice that of the other, then h%: ab =

AT:8

B.8:7

C.8:9

D.9:8

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_dUBuPaRG7wL7

67. If ratio of slopes of lines az? + by* = 0'is 1: 3 then

h%:ab =

w >
Wk | w w|r

N

O
[t

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_61j20fj7cYpi

68. If the gradient of one of the lines given by
z? + hay + 2y® = 0is twice that of the other, then h =
A +t2
B.£3
C.+1

Dj:3
2

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_u8fDZm2ws2Gd

69. If slopes of lines ax? + 2hzy + by® = 0 differ by k
then (h* — ab): b* =

A. 4k*

B.4: k>

C.k: 4

D.k* 4+ 4

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_67VSmx4sYBTn

70. If distance of a point (z1, y;) from each of two lines
Ly and Ls, through the orign , is §, then joint equation

of Ly and L, is

A (z1y — acyl)2 = §° (m2 + y2)
B. (x1y + czryl)2 = §° (a:2 + y2)
C. (z1z — yy1)2 = §2 (:c2 + yz)

D. (xx; + yy;)* =8

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_da6XHuTzEXOf

71. If the distance of a point (z1, y;) from each of the
two straight lines, which pass through the origin of

coordinates, is J, then the two lines are given by
A (az + by)® = d* (z® + v°)
B. (ay — bx)® = d? (z® + )
C. (az + by)® = d* (z* + )

D. (az + by)® = d? (z° — )

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_WbU5tXUyD4D5

72.1f 222 + zy — 3y + 4z + ky — 6 = 0 represents a
pair of lines then k =

All, —9

B.9, — 11

c.1, —19

D.—9, — 11

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_JTADG1AGhQt2

73. If Az? — 10zy + 12y* + 5z — 16y — 3 = 0,
represents a pair of straight lines, then the value of A
is

A 4

B.3

C.2

D. 1

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_uvTnB214qB22

74. If 1222 —10zy+2y* + 11z —5y+c =0

represents a pair of lines then ¢ =

Al

B.2

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_cWuucvfVGaYC

75. If 222 + dzy — py® + 4z + qy + 1 = 0 represents

a pair of mutually perpendicular lines then

Ap=2,qg=1
B.p = _27q:
Cp= —2,9=

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_NAZXfKIZRl9O

76. if the equation
1222 + Ty — py2 — 18z +qy+6 =0 represents
two perpendicular lines , then the value of p and q are

A (12,1)

B. (1, 12)

C.(—1,12)

D.(—12,1)

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_K3n321VUsIzL

77. If the angle between the two lines represented by
2¢° + 5xy + 3y  + 62 +Ty+4=0 is tan '(m),

then mis equal to

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_mvIEbX0nTqYv

78. If 6 is the angle between the Iliens
z? — 3zy + 2y° + Az — 5y + 2 = Othen csc? 6 =

A3

B.9

C.10

D. 100

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_aBM55Ta52Q89

79. The equation
z? + 2/abzy + by? + 29z + 2fy+c =0

represents a pair of parallel straight lines, if

A. g2 = ac
B.bg* = af?
C.ag? = bf?
D.af? = cg?
Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_vHOBIKRQB7e2

80. Select and write the correct answer from the
alternatives in each of the following :
If an equation hxy 4+ gz + fy + ¢ = 0 represents a pair

of lines, then .....

A.2fgh =
B.2fg = ch
C. fgh = ¢
D. fg = ch
Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_NHgNUkPsieZh
https://dl.doubtnut.com/l/_uTkl83zQ3LWa

81.If the two lines az? + 2hay + by? = a make angles

a and B with X-axis,then :tan(a + 8) =

a-+b

Answer: D

° Watch Video Solution

82. If 3z° — 6zy — by®> = 0 represents a pair of lines

inclined at an angle m then b =


https://dl.doubtnut.com/l/_uTkl83zQ3LWa
https://dl.doubtnut.com/l/_uHmPPgskJFvA

A3

B.6

C.9

D. any real number

Answer: A

o Watch Video Solution

8. Find the angle between the lines whose joint

equation is 222 — 3zy + y°> = 0

A tan™ " (/3)
B.cot ' (1/3)


https://dl.doubtnut.com/l/_uHmPPgskJFvA
https://dl.doubtnut.com/l/_CxPccpIHqhNA

C.cot 1(3)

D. cos ~1(3)

Answer: C

o Watch Video Solution

84. If the lines pz® — gzy — y? = 0 make the angles a

and [ with X-axis, then find the value of tan(a + 3).

—D
A.

1-+gq

—q
B. —

1+p

q
C.——

1+ p
D. L


https://dl.doubtnut.com/l/_CxPccpIHqhNA
https://dl.doubtnut.com/l/_7Rke9XsTf93D

Answer: B

o Watch Video Solution

85. If the equation az®>+by’+cx+cy=0

represents a pair of straight lines , then

Aa+b=0
B.b+c=0
C.c+a=0
D.a +b=c
Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_7Rke9XsTf93D
https://dl.doubtnut.com/l/_v6IrowjYKjXB

86. If the equation az®+by’+cx+cy=0
represents a pair of straight lines , then

A. not real

B. coincident

C. mutually perpendiculat

D. strictly parallel

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_v6IrowjYKjXB
https://dl.doubtnut.com/l/_5yOIV07PAnt0

87. For what value of k is 4z? + 8zy + ky®> = 0 the

equation of a pair of straight lines?

A.O
B.4

C.9

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_cF9I2MAsbFp0

88. Two lines are given by (z — 2y)° + k(z — 2y) = 0.
The value of k, so that the distance between them is 3,
IS :

A +3

B.+5./5

C.0O

D.+3,/5

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_Lbt5FMB08BVC

89. Find the measure of the acute angle between the

lines represented by

(a2 — 3b2)x2 + 8abxy + (b2 — 3a2)y2 = 0.

D[N w3 e[y o]

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_5izwgcW5HMo1

90. If joint equation of two lines through the origin,
each making an angle 6 with the line z +y =20 is
z? + 2hzy + y® = Othen h =

A.sec 20

B. —sec 26

C.tan 26

D. —tan 26

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_s05ol84mIBff

91. IF the equation z® 4 y®>+2g9z +2fy+1 =0

represents a pair of lines, then

1

Agi+ fi=—=

2

B.f2—¢g?>=1

Cff=g¢"=1

D.g° — f* =0
Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_M0mDoLLxn53q

92. Equation of pair of lines, drawn through (1,1) parallel
to the lines 222 — 5zy + 3y? = is

A.3z% 4 bry + 2y? — 9z — 11y + 10 = 0

B.3z? + 5zy + 2y> — 11z — 9y + 10 = 0

C.2z2 + 5y + 3y  — 92 — 11y +10=0

D.2z% + 52y = 3y®> — 11z — 92 + 10 = 0

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_X0kRzvCVYEMI

93. If slope of one of the lines az? + 2hay + by® = 0 s
5 times the slope of the other then 5h% =

A. ab

B. 2ab

C.7ab

D. 9ab

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_XmIAcKIWUYjw

94. If the slope of one of the lines represented by

az® 4+ 2hzy + by’ = 0 is the square of the other ,

th a—l—b_|_8h2_
" ab

A4

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_zI1NEDuqh6S5

95. If h®=ab then slopes  of lines
az’® + 2hzy + by? = 0are in the ratio

Al:2

B.2:1

C.2:3

D.1:1

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_TwS1mGTb8QXQ

96. Joint equation of two lines through (-2,3) parallel to
bisectors of angles between co-ordinate axes is
Az+y*+4z +6y—5=0
Bz’ -y’ +4x+6y—5=0
Czl—y*—dz —6y+5=0

D.a’ -y’ —4dx —6y—5=0

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_zG3EBiz5tYNV

97. If angle between lines az? + 2hzy + by> = 0 is %

then 2h =

A v/a® + b + 3ab

B.v/a? + b% — 3ab

C. \/(a—l— b)* + 4ab

D.\/(a—l—b)2+ab

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_aiBbsh1FD2QJ

98. The |lines represented by the equation

ax? + 2bxy + hy* = 0 are mutually perpendicular if

Aa+b=0
B.b+h =0
Ch+a=0
D.ah = —1
Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_YJF7TEDV0ML5

99. If the gradient of one of the lines given by
z? + hay + 2y® = 0is twice that of the other, then h =
A +t2
B.£3
C.+1

D.+£3/2

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_5ZoaAG3ttnEP

100. if LY 22y 0 t ir of
. - + 7 + ;— = 0 represent pair o

straight lies and slope one line is twice the other line

then ab: h2.

Al:2

B.2:1

C.8:9

D.9:8

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_JldoNg6zbJFk

101. The diagonals of a square are along the pair of
lines whose equation is 252 — 3ry — 2y2 = 0If (2,1)is a
vertex of the square, then the vertex of the square
adjacent to it may be

A.(1,4)

B. (1,-2)

C.(2,1)

D. (1,2)

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_Jp0WT5PDOBdm
https://dl.doubtnut.com/l/_BstRriLAl7k8

102. Equation z?y? — 9y® + 62’y — 5dy = 0
represents

A. a pair of lines and a circle

B. a pair of lines and a parabola

C. a set of four lines which form a square

D. a set of four lines along a rectangle

Answer: C

° Watch Video Solution

103. If the sum of the slopes of the lines given by

z? — 2cxy — Ty? = 0'is four times their product , then


https://dl.doubtnut.com/l/_BstRriLAl7k8
https://dl.doubtnut.com/l/_lcyH5zUzCR5n

the value of cis

A2

Answer: A

o Watch Video Solution

104. If one of the lines given by 622 — zy + 4cy® = O'is

3z 4+ 4y = 0,thenc =

A3


https://dl.doubtnut.com/l/_lcyH5zUzCR5n
https://dl.doubtnut.com/l/_CuyGJjYul2HU

Answer: D

o Watch Video Solution

105. If 20 is an acute angle, then the acute angle

between the two lines
z2(cos 6 — sinf) + 2zy. cos§ + y*(cos f + sinf) = 0

is

A. 20


https://dl.doubtnut.com/l/_CuyGJjYul2HU
https://dl.doubtnut.com/l/_F2qFGtPfNJRX

@

Wl N D

Answer: D

o Watch Video Solution

106. If the pair of straight lines 2y —z —y+1=0&

the line ax + 2y — 3 = 0 are concurrent then a =

B.3

C.1



https://dl.doubtnut.com/l/_F2qFGtPfNJRX
https://dl.doubtnut.com/l/_8ZEGyGokuPfh

D.O

Answer: A

o Watch Video Solution

107. Joint equation of the two lines £ +y =1 and

x—y=4is
Az —y = —4
B.z? —y? =4

Ce+y—1)(z—y—4) =0

D.(z +y+1)(z—y+4) =0


https://dl.doubtnut.com/l/_8ZEGyGokuPfh
https://dl.doubtnut.com/l/_XqIunmDuSBoX

Answer: C

o View Text Solution

108. Mesure of angle between the two Ilines

z? (0052 0 — 1) — zysin®6 + y?sin?0 = 1is

| 3 w|§’ & w|y

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_XqIunmDuSBoX
https://dl.doubtnut.com/l/_PjrMcpupOgwA

109. Two lines jointly given by the equation
xy —2y+y—2=_0are
A.|| to coordinate axes separately and L to each
other
B. L to coordinate axes separately and 1 to
each other
C.|| as wellas L to coordinates
D.|| and L to coordinates axes, and | to each

other

Answer: D



https://dl.doubtnut.com/l/_PjrMcpupOgwA
https://dl.doubtnut.com/l/_wLa05LrBwLxu

[ o Watch Video Solution

110. If the equation
az?® + 2hzy + by® + 29z + 2fy+¢c =0 jointly
represents two lines whose separation equations are
x+y=0and2x — 3y =1then:g =

A1l

B.1/2

C.—1/2

Answer: C

[ o Wiakt~ A \tAAA CAlLiikiAan



https://dl.doubtnut.com/l/_wLa05LrBwLxu
https://dl.doubtnut.com/l/_QeRQzn97qnhY

AAK-LAFI I A Al IAGINILS J

1. If one of the lines
az’® + 2hzy + by’ + 29z + 2fy+¢c =0 passes

through the origin then

Aa= —b
B.c=0
C.a=2»>
D.h =0
Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_QeRQzn97qnhY
https://dl.doubtnut.com/l/_lhoOitAXTgBT
https://dl.doubtnut.com/l/_qyi3e20rLFOu

112. The point of intersection of lines gives by the
equation 3z* + 10zy + 3y* — 15z — 21y + 18 = O'is
A. two sides of an equilateral triangle
B. diagonal of a rhombus
C. opposite sides of a parallelogram

D. opposite sides of a trapezium

Answer: B

° Watch Video Solution

113. If the equation

kKz? + 10zy + 3y* — 152 — 21y + 18 = 0 represents


https://dl.doubtnut.com/l/_qyi3e20rLFOu
https://dl.doubtnut.com/l/_opUYS80SkPZs

a pair of mutually perpendicular lines then

Ak=25
B.k= +./2
Ck=3

D. k is not real

Answer: D

o Watch Video Solution

114. The distance between the point of intersection of
the two lines 2009z + 2010zy + 2011y? = 0 and the

point (1,1) is


https://dl.doubtnut.com/l/_opUYS80SkPZs
https://dl.doubtnut.com/l/_DmyWVyj8fjyj

Al

B. 2

D.2 + /3

Answer: C

o Watch Video Solution

115. If the equation
az® 4+ hxy + by* + 4gx + 6fy + 4c = 0 represents a

pair of lines then

A.4dabc + 4fgh = 4.5af% + 4bg® + h?


https://dl.doubtnut.com/l/_DmyWVyj8fjyj
https://dl.doubtnut.com/l/_eWVvxozAlDo5

B. 4abc + 6fgh — 9af? — 4bg* — ch?
C.4abc + 2fgh — 9af? + 2bg® + h?

D. 4abc + 12fgh — 9af? + 4bg® + 2h*

Answer: B

o Watch Video Solution

116. The joint equation of lines which bisect the angle
between the two lines 2 + 3zy + 2y* = 0'is

A3z? +2zy —3y> =0

B.22% + 3zy — 3y®> = 0

C.22° +3zy— 242 =0


https://dl.doubtnut.com/l/_eWVvxozAlDo5
https://dl.doubtnut.com/l/_zBLduxFnBm54

D.2z% —3zy + 42 =0

Answer: A

o Watch Video Solution

117. The equation of the bisectors of angle between the

lines z? — 4zy + y®> = 0is

A.a:2+y2 =0
B.z? —y? =0
.2z +y> =0

D. 2 —2y2 =0


https://dl.doubtnut.com/l/_zBLduxFnBm54
https://dl.doubtnut.com/l/_IG7T3yPECPzA

Answer: B

o Watch Video Solution

118. If the lines =% + 2hazy — y* = 0 bisect the angle

between the lines 2z + 10zy — y®> = Othen h =

A15
© 2

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_IG7T3yPECPzA
https://dl.doubtnut.com/l/_kekA57EZgHnr

119. If the equation 7z% — kzy — Ty* = 0 represents
the bisectors of angles between the lines

222 — Tzy + 4y*> = Othen: k =

A2

B.3

D.4

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_kekA57EZgHnr
https://dl.doubtnut.com/l/_ZHu1jel5BggM
https://dl.doubtnut.com/l/_PQmoExqiIkl8

120. If z° — 2pzy —y?> =0 and 2? — 2gzy —y* =0
bisect angles between each other, then find the

condition.

A2p+q=0
B.pg+1=20
C.2p+3q=0

D.pg =1

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_PQmoExqiIkl8

121. If tihe lines 2z — y = 0 is the bisector of an angle

between the two lines z? + 2hzy — 3y®> = 0 then

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_kWOWbMOm86Q7

122. Two lines given by equation z* + zy + y* = 0 are

A. coincident
B. parallel
C. mutualy perpendicular

D. imaginary

Answer: D

o Watch Video Solution

123. The value of h for which the equation

3z% + 2hay — 3y® — 40z + 30y — 75 = 0 represents


https://dl.doubtnut.com/l/_j0RPItngJK0m
https://dl.doubtnut.com/l/_oVxUTp3NCElC

a pair of straight lines , are

A 44

B.4,6

C.4,4

D.04

Answer: A

o Watch Video Solution

124. Joint equation of lines passing through the origin,
and parallel to the lines y—mqz +c¢ and

Yy = mix + co,is


https://dl.doubtnut.com/l/_oVxUTp3NCElC
https://dl.doubtnut.com/l/_YSGW12Y4Ux1C

A.mimez® — (mq _ mo)zy +y°> =0
B.mimoz> + (mq + my)zy +y°> =0
C. m1m2y2 — (ml + m2)wy + ZU2 =0

D. mimay® + (mq + my)zy + 2 = 0

Answer: A

o Watch Video Solution

125. Find the separate equation of two straight lines

whose joint equation is ab

(:r:2 — y2) + (a2 — bz)wy =0

Aar —by—0,bx +ay =0


https://dl.doubtnut.com/l/_YSGW12Y4Ux1C
https://dl.doubtnut.com/l/_opmZGDLbVIOd

B.ax —by =0,bx —ay =0

Car+by=0,bx +ay=20

D.ax +by=0,bx —ay =0

Answer: A

o Watch Video Solution

126. The equations of the lines represented by the

equation az® + (a + b)zy + by’ + = + y = O are
Aax+by+1=0,24+y=0
Bar+by—1=0,2+y=0

Car+by+1=0,z—y=20


https://dl.doubtnut.com/l/_opmZGDLbVIOd
https://dl.doubtnut.com/l/_7D5BrI3OO07D

D. None of these

Answer: A

o Watch Video Solution

127. Separate equations of lines whose joint equation is
a(b — ¢)z? — (ab — be)zy + c(a — b)y* = O are
Aalb—cx —cla—by=0,z+y=0
B.z4+y=0,z—-—y=0
Calb—c)z —cla—by=0,z —y=0

D. None of these


https://dl.doubtnut.com/l/_7D5BrI3OO07D
https://dl.doubtnut.com/l/_u5kXBmLKL6sa

Answer: C

o Watch Video Solution

128. The equation
(z = 5)° + (z ~5)(y—6) —2(y —6)° =0
represents

A. a circle

B. two lines through origin

C. two lines through

D. None of these

Answer: C



https://dl.doubtnut.com/l/_u5kXBmLKL6sa
https://dl.doubtnut.com/l/_chqWUOpZpEt9

o Watch Video Solution

129. If 4ab = 3h?, then the ratio of the slopes of the
lines represented by the equation
az® 4+ 2hzy + by® = 0 will be

(A) v/2:1

(B) v/3:1

(0)2:1

(D)1:3
A +2:1

B.\/§:1

C.2:1


https://dl.doubtnut.com/l/_chqWUOpZpEt9
https://dl.doubtnut.com/l/_oIvIi3DMkTrU

D.3:1

Answer: D

o Watch Video Solution

130. The equation of the perpendiculars drawn from
the origin to the lines represented by the equation
2% — 10zy + 12y* + 52 — 16y — 3 = 0, is

A 622 + 5zy + y?

B.6y> + Sxy+ 2 =0

C.6z% — STy + y2

D. None of these


https://dl.doubtnut.com/l/_oIvIi3DMkTrU
https://dl.doubtnut.com/l/_ttu6btlUW36a

Answer: A

o Watch Video Solution

131. The

A2? + 122y + 9y® + 29z + 2fy +¢c =0

represents two real partall straight lines. if
Ag=4,f=9c=0
B.g=2,f=3,c=1
C.g =2, f = 3, cis ay number

D.g=4,f=9c>1

Answer: C

equation

will



https://dl.doubtnut.com/l/_ttu6btlUW36a
https://dl.doubtnut.com/l/_nivocK41aoLw

o Watch Video Solution

132. Equation of one of the two
z? + 2zy + cosf — y? = 0is

Azx—y.cotd =0

B.z +y.tanf =0

C.z.sinf + y(1 + cosf) =0

D.x.cosf + y(1+ sinf) =0

Answer: C

lines

o View Text Solution



https://dl.doubtnut.com/l/_nivocK41aoLw
https://dl.doubtnut.com/l/_jZXVCxh8YGAI
https://dl.doubtnut.com/l/_weorQVM7uir2

133. The pair of straight lines passing through that
point (1, 2) and perpendicular to the pair of straight
lines 3z — 8zy + 5y? = 0, is

A bz +3y+11)(z+y+3)=0

B.(5z + 3y — 11)(z +y—3) =0

C.(bx +3y—11)(z +y+3) =0

D.(3z — 5y +11)(x +y—3) =0

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_weorQVM7uir2

134. The area of triangle (in sq units) formed by the

lines 2 — 4y®> = 0and = = a, is

A. 20>

]

o
Q
[\)]
Qe el els
Q

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_OWVsXIIZ6RN1

135. If the equation z?—3y —2z—Ay—2=0
represents a pair of lines then A =

A 33

B.—3,1

C. 3,1

D.—1,1

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_E5Ilqk4LHGl8

136. If A\z? — 5zy + 6y> + — 3y = 0 represents a
pair of staight lines, then their point of intersection is:
A. (1,3)
B. (-1,3)
C.(3,0)

D. (-3,-1)

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_T8eBvyqoZByh

137. If the acute alngles betwene the pairs of lines

322 + Tey + 4y® = 0 and 622 — 5zy + y> = 0 are 6,

and 6, then
A.0; — 0,
B.0; = 26,
C.0y — 260,

D. None of these

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_53GEOvxUmJ2D

138. If the angle between the lines az? + zy + by® = 0

is 45°, then

D. None of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_Wc4o8uywrZRM

139. If the angle between the two Ilines
y* + kay — 2 tan?§ = 0is 20 then k =

A.O

B.1

C.2

D.tan®

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_R93HyyHHksAd

140. If the sum of slopes of the Ilines
z? — 2zy. tanf — y> = 0is 4,then: 0 =

A.0°

B.45°

C.60°d

D. —tan 12

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_qTma3TLVngRV

141. If the lines represented by the equation
2x% — 3ry + y2 = 0 make angles a and 3 with X-axis,

then cot? o 4 cot? B is equal to

N w >
o

o
ot s | w

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_UCOD23UHGiyB

142. Angle between the lines (:v2 + y2)sin0 —2xy =10

is

A0
. 0
"2
T
C.— —86
2
5 T 0
"2 2
Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_VfMNYlnqeviI

143. If the angle between the two Ilines
23 —3zy+ Ay’ +3z —5y+2=0,A>0 is
tan~'(1/3) then: A\ =

A 2

B.O

C.3

D. 1

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_yDwFNdOIC4r6

144. Equation z? + m1y2 + mozxy =0

represents a pair of perpendicular lines if

C.my = 2my

D.mimy = — 1

Answer: A

jointly

o Watch Video Solution



https://dl.doubtnut.com/l/_Tz4R8Dua8A5O

145. If 20 is an acute angle, then the acute angle
between the two lines
22 (cos @ — sinf) + 2zy. cos O + y*(cos @ + sinf) = 0

is

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_wYCNnNR0qgfq
https://dl.doubtnut.com/l/_1XNGo063wVne

146. If one of the lines of
my2 + (1 — m2)a:y —mz? =0 is a bisector of the
angle between the lines zy = 0, then m is 1 (b) 2 (¢)
L (d) —1
2
A —1/2
B.—2

C.1

D. 2

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_1XNGo063wVne

147. If the bisectors of the angles between the pairs of
lines az’ + 2hay + by, = 0 and
az’ + 2hzy + by® + )\(:vz + yz) = 0 are coincident,

then: \ =

B.b
C.h

D. any real number

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_3RSu8fbHQjqv
https://dl.doubtnut.com/l/_23EemNzAVzvD

148. Joint equation of bisectors of angles between the

two lines 2% + 2zy. cot 8 + y?> = O'is

Azl—y* =0

B.:c2—y2 =Ty

D. (m2 — y2)cot 0 = 2zxy

Answer: A

° Watch Video Solution

149. If the bisectors of the angles between the lines

given by 3z? — dzy + 5y° = 0 and


https://dl.doubtnut.com/l/_23EemNzAVzvD
https://dl.doubtnut.com/l/_23wItlMi6Pif

522 + dxy + 3y2 = 0 asre same, then, the angle made
by the lines in the first pair with the second is

A. 30°

B.60°

C.45°

D.90°

Answer: D

o View Text Solution

150. One bisector of the angle between the lines given

by a(x —1)> +2h(z — Dy + by’ =0 is


https://dl.doubtnut.com/l/_23wItlMi6Pif
https://dl.doubtnut.com/l/_Z88CXkjkpVAV

2z + y — 2 = 0.The equation of the other bisector is

Az —2y+1=0

B.2r +y—1=0

Cx+2y—1=0

Dz —2y—1=20

Answer: D

o Watch Video Solution

151. The lines y = mx bisects the angle between the

lines az? + 2hzy + by? = 0if

Ah(l+m*) +m(a—1b) =0


https://dl.doubtnut.com/l/_Z88CXkjkpVAV
https://dl.doubtnut.com/l/_kQn6IRWAUHdP

B.h(1—m?) + m(a+b) =0
C.h(1—m?) + m(a—b) =0

D.h(1+m?) +m(a+b) =0

Answer: C

o Watch Video Solution

152. If one of the lines of
my? + (1 — mz)xy — mz? =0 is a bisector of the
angle between the lines zy = 0, then m is 1 (b) 2 (¢)

. d) —1
_5( ) —


https://dl.doubtnut.com/l/_kQn6IRWAUHdP
https://dl.doubtnut.com/l/_iXIOrSVp5Cdt

C.x=1

D. 2

Answer: C

o Watch Video Solution

153. The equation of the lines parallel to the line
common to the pair of lines given by
6z — zy — 12y* = 0 and 152 + 14zy — 8y* = 0 and

the sum of whose intercepts on the axes is 7, is

A2r — 3y = 42


https://dl.doubtnut.com/l/_iXIOrSVp5Cdt
https://dl.doubtnut.com/l/_Ya0SSksUZnno

B.3x + 4y = 12

C.box — 2y =10

D. None of these

Answer: B

o Watch Video Solution

154. If the slope of one of the lines given by
az® — 6zy + y> = 0is square of the other, then a =
Al
B.2

C. 4


https://dl.doubtnut.com/l/_Ya0SSksUZnno
https://dl.doubtnut.com/l/_Yhd91J8DwlKY

D.8

Answer: D

o Watch Video Solution

155. Orthocentre of the triangle formed by the pair of

lines xy = 0 and thelines 2 + 3y +4 = 0is

A (2, 3)

B. (3, 2)


https://dl.doubtnut.com/l/_Yhd91J8DwlKY
https://dl.doubtnut.com/l/_rjLPkwFPtJ41

Answer: C

o Watch Video Solution

156. Sum and product of slopes of two lines through
the origin are respectively the AM. And G.M. of 9 and
16. Joint equation of bisectors of these lines is

A. 24z% — 25Ty + 2y2 =0

B. 252 + 44zy — 25y° = 0

C.11z? — 25zy — 11y* = 0

D. None of these

Answer: B



https://dl.doubtnut.com/l/_rjLPkwFPtJ41
https://dl.doubtnut.com/l/_J5FRA12BlSbl

o Watch Video Solution

157. If the pair of lines az? — 2zy + by® = 0 and bx"2-
2xy+ay”2=0'
be such that each pair bisects the angle between the
other pair , then |a-b| equals to

A.O

B.1

C.2

D.4

Answer: C

[ ° Wiakt~ A \tAA~A CAlLiikiAan



https://dl.doubtnut.com/l/_J5FRA12BlSbl
https://dl.doubtnut.com/l/_SprfeZiwKUfo
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158. If pairs of lines 3z® — 2pzy — 3y®> =0 and
522 — 2qry — 5y = 0 are such that each pair bisects

then angle between the other pair then pg =

D.-15

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_SprfeZiwKUfo
https://dl.doubtnut.com/l/_36HVB29GCY7m
https://dl.doubtnut.com/l/_tDJ9mTAD9XcI

159. If one of the two lines 6z% +zy—y?> =0
coincides with one of the two lines
322 — azy + y? = Oten

Aa®—3a+28=0

B.2a° —a—28=10

C.2a° — 15a +28 =0

D. None of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_tDJ9mTAD9XcI

160. If the area of the triangle formed by the pair of
lines 822 — 6zy + y®> = 0 and the line 2z + 3y = a is

7 then a =

A 14

B. 144/2

C. 28

D. None of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_j1litYjvDWbg

161. If the centroid of the triangle formed by the lines

2y* + 5zy — 3z> = 0 and ks (—,
Yy " +orxy—or"  =0and r+y=~kK IS 18’ 18 ) °

then the value of k is

B.O
C.1

D. None of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_TBf096VRbCxb

162. If the pairs of straight lines
az’ 4+ 2hzy — ay® = 0 and bz? + 2g9zy — by®> = 0 be

such that each bisects the angles between the other,

then
A.hg+ab=0
B.ah +bg =0
C.h?=ab
D.ag+ bh =0

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_q2OrTXS9yWnS
https://dl.doubtnut.com/l/_lD0fyva96f9M

163. If the equation
z® + (a + b)zy + aby® + = + ab = 0 represents two

parallel lines, then

Aa+b=0
B.a = 4b
C.a=2»>

D. None of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_lD0fyva96f9M

164. One bisector of the angle between the lines given
by a(x —1)> +2h(z — Dy + by’ =0 is
2z + y — 2 = 0. The equation of the other bisector is

Az —-2y+1=0

B.x —2y—2=20

Cz—2y—1=0

D. None of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_pacbvH9xFDk8

165. Three lines whose joint equation is 4z’y — y> = 0
form a triangle which is

A. isosceles

B. equilateral

C.right angled

D. None of these

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_BsijLG1YM2qp

166. If a line y — ma bisects the anglebetween the lines
(tan2 6 + cos? 0) z? + 2zytand — y?sin?6 = 0 when
0 is 60° then : \/3m? + 4m =
A1
B. —
V3
C.v/3

D.7./3

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_JP11BzEoMEBr

167. The lines y = max bisects the angle between the
lines az? + 2hzy + by? = 0if

Ah(m®—1) +m(b—a) =0

B.h(m?> — 1) + m(a—b) =0

C.h(m2 +1) + m(a—b) =0

D. None of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_1pPE9GozEr6Q

168. If two pairs of straight lines having equations
y? + zy — 1222 = 0 and az? + 2hzy + by? = 0 have
one line common, then a =

A.—3(2h + 3b)

B.8(h + 2b)

C.2(b+ h)

D.—3(b+ h)

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_yVbxsmWuTZbf

169. The point of intersection of the pair of straight

lines given by 6z + 5zy — 4y® + 7z + 13y — 2 = 0, is

D.(—1, — 1)

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_Vb32YvPLz3t5

170. The centroid of the triangle whose three sides are

given by the combined equation

(2% + Tzt + 2y%) (y — 1) = 0, is
A (30)
3
5 <Z Z)
"\3’3
(33
' 373

D. None of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_kBNzdMJUwgBg

171. If the equation
22% + 2hay + 6y®> — 4z + 5y — 6 = 0 represents a
pair of straight lines, then the length of intercept on

the x-axis cut by the lines is equal to

A2

B.\/7
C.4

D.O

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_UkETQmO2mjsE
https://dl.doubtnut.com/l/_hRUNMvRl6LgI

172. If the angle between the lines represented by the
equation y? + kzy — z°tan® A = 0is2A4, then K is
equal to

A.O

B. 2

C. 4

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_hRUNMvRl6LgI

173. Separate equations of the two lines jointly given by
ab(a:2 — y2) + (a2 — b2)xh = QO are
Aar —by=0,bx +ay =0
B.ax —by=0,bx —ay =0
Car+by=0,bx +ay =20

D.ax + by = 0,bax — ay = 0

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_DsYnpVFTDDva

174. Two lines given by the joint equation

az®(b — c) — zy(ab — bc) + cy*(a — b) = 0 are
Aalb—cx —cla—by=0,z+y=0
Bz4+y=0,z—-—y=0
Calb—clz—cla—by=0,z—y=0

D. None of these

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_vVXe2inKrMRT

175. The equations of the lines represented by the

equation az? + (a + b)zy + by® + = +y = Oare
Aaz+by+1=0,2+y=20
Bar+by—1=0,24+y=0
Car+by+1=0,z—y=20

D. None of these

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_JlFtRnqTOImH

176. If the area of the triangle formed by the lines
z? —4y> =0andz = ais 8, then a =

A +1

B.+2

C.£3

D.+4

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_Iv4phFtSXVr0

177. If the two lines 2z® — 3zy + y*> = 0 makes anlges
a and B with X-axis then : csc® a + csc? g =

A.2

B.7/2

C.15/4

D.13/4

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_Ymsp9pn8sAgK

178. If sum of slopes of the lines
z? — 2zytan A — y? = 0'si 4, then: Za =

A.0°

B.45°

C.60°

D.tan *( — 2)

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_XQQjBJj3g02z

179. Measure of angle between the two lines

(a:z + y2)sin9 + 2zy =0is

A0
. 0
"2
T
C.— —86
2
5 T 0
"2 2
Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_YvB4ROUySn3G

180. Find the angle between the lines repersented by

the equation 22 — 2pzy + y? = 0

1

A.sec " p
B.cos_lp
C.tan_lp

D. None of these

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_kKISearK5Zyj

181. If (a, a2) falls inside the angle made by the lines
Yy = %,w > 0 and y = 3z, x > 0, then a belongs to

the interval

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_qJESCt5NozKc

182. If the bisectors of angles represented by
az’ + 2hzy +by> =0and a’z® + 2h'zy + b’y = 0
is same , then

A(a—bh" =(a’"—b)h

B.(a —b)h’ = (a’ —b")h

C.(a+bh" =(a" —b")h

D.(a — b)h’ = (a’ +b)h

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_gJcwUgaulcFF

183. If (1 — m*) + m(p — q) = 0, then a bisector of
the angle between the lines represented by the

equation px? — 2rzy + qy2 = 0, is.

Ay==
By= —«
Cy=mx
D.x = my
Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_v8MqMDEM0N0N

184. If the bisector of the angles between the lines in
the two pairs 3z? — dxy + 5y2 =0 and
522 + 4zy + 3y®> — 0 are same then the angle made by
the first pair with the second is

A.30°

B.45°

C.60°

D.90°

Answer: D

° View Text Solution



https://dl.doubtnut.com/l/_iOg8ViVECs67
https://dl.doubtnut.com/l/_TJdtmNCggkhF

185. The  straight lines represented by
(y — mz)® = a*(1+ m?) and
(y — nz)® = a’(1 4 n?) from a rectangle (b) rhombus
trapezium (d) none of these

A.rectangle

B. trapezium

C.rhombus

D. None of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_TJdtmNCggkhF

186. The equation z — y = 4 and z° + dzy + y*> = 0
represent the sides of

A. equilateral

B. right angled

C. isosceles

D. None of these

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_aJ6thCPYFngb

187. The combined equation of the lines L; and Ly is
222 + 6zy +y> =0 and that lines Ly and Ly is
4z* + 18zy + y* = 0. If the angle between L; and L,

be a, then the angle between Ly and L3 will be

&Y oy

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_MgTnCxLgFoEC
https://dl.doubtnut.com/l/_M9SOsLCbeKJV

188. Joint equation of the straight line passing through
the origin, one of which is parallel and other
perpendicular to the lineb6x — 4y +3 = 0is

A. 622 — dry — 6y2 =0

B. 62 — dTY — 5y2 =0

C.6z% + by — 6y> =0

D.5z% + 5zy — 6y° = 0

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_M9SOsLCbeKJV

189. Combined equation of the lines passing through
the origin and perpendicular to the lines
2x? — 3xy+y2 =0is

Az —3zy—y =0

B.z> —3zy+ 242 =0

C.z? — 3ry — 2y2 =0

D.z? + 3zy+ 242 =0

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_AHDAPgT5xi9R

190. Joint equation of pair of lines through (3,
and parallel to z? — dxy + 3y2 =0is
Ax? —4dy+3y° + 14z + 24y + 45 =0
B.z? —dzy + 3y* — 14z — 24y + 45 =0
Cx?—dey+3y? — 14z — 24y +45=0

D.z? — dzy + 3y® — 14z + 24y + 45 = 0

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_tSp5FdmwqLbu

191. Find the angle between the lines represented by

z? + 2zxysecd +y*> =0

A. 20

0

O
NG S S R RS

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_b2aR7CjLXMaG

192. If kxzy + 10z + 6y + 4 = 0 represents a pair of

lines, then k =

A.30

B.150r O

C.15

D.30or0O

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_S3XitPW3Vzw7

193. The angle between the lines in

z? —zy—6y> — Tz +3ly — 18 = 0is

w3 pA o)y ]

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_OlIKDiK5zDc7

194. The pair equation of the lines passing through the
origin and having slopes 3 and — 3 is

A3y: +8zy —3z° =0

B.3z? + 8zy+ 3y> =0

C.3y> —8xy— 3z =0

D.3z? + 8zy — 3y = 0

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_G3G0qjaFguRl

195. If one of the lines given by az® + 2hzy + by* = 0
is 4z — by = 0 then

A. 25a + 40h 4 166 = 0

B. 25a — 40h — 16b = 0

C.25a — 40h + 16b = 0

D. 25a + 40h — 160 = 0

Answer: A

° Watch Video Solution

Test Your Grasp


https://dl.doubtnut.com/l/_KNcRK3hrztEj
https://dl.doubtnut.com/l/_D4rxp3Da5N0I

1. Joint equation of the X-axis and the bisector of the

angle in the first quadrant is

Azy+y> =0

B.xy —z? =0

Czy—y> =0

D.zy+ 22 =0
Answer:

o Watch Video Solution

2.1f m is the slope of one fo the two lines jointly given

by the equation 2z* + 4zy + y* = 0then


https://dl.doubtnut.com/l/_D4rxp3Da5N0I
https://dl.doubtnut.com/l/_zZGJFUhIwhnC

Am?>+2m+4=0

B.m2 +4m +2=0

C2m?+4m+1=0

D.2m2 +4m =0

Answer:

o Watch Video Solution

3.1f the two lines (32 — y)* = k(z® + y*) are mutualy

perpendiculart then: k =

A5

B. 6


https://dl.doubtnut.com/l/_zZGJFUhIwhnC
https://dl.doubtnut.com/l/_ng1ZG6SHQgMK

Answer:

o Watch Video Solution

4, If kx+3y=0 is one of the two Ilines
522 4+ 3zy — y? = Othen k* — 9k =

A. 40

B. 46

C.-45

D.-40


https://dl.doubtnut.com/l/_ng1ZG6SHQgMK
https://dl.doubtnut.com/l/_Hjiwcw5LIxmB

Answer:

o Watch Video Solution

5. If one of the two lines 3z? — kzy — y? = 0 bisects

an angle between the co-ordinates axes, then : k =

A £1

B.£3

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_Hjiwcw5LIxmB
https://dl.doubtnut.com/l/_k4kbbLUPJa60

6. If the two lines kz? + 5zy + 9y> = 0 are equally

inclined with the cordinates axes, then: k =

A5

C.=9

D. =3

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_k4kbbLUPJa60
https://dl.doubtnut.com/l/_vlsaDxpDynv0

7. Combined equation of the two lines passing through
the origin, forming an equilateral triangle with the line
T+y+4/3=0is

Azi+4y—y =0

B.z? —4daxy+y°> =0

Cax? —dxy+2y° =0

D.z? + dzy+ 2> =0

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_OsaM5ELzfqfi

8. If the lines 3z° —kzy —3y> =0 and z +2y =8

form and isosceles triangle then: k =

A 4

D.8

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_AWaigA44nrD2

9. Length of each leg of an isosceles right angled
triangle, formed by the lines 3z% — 8ry — 3y2 = 0 and

y—2x — 3is

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_cgOTmGs4JXPm

10. If the equation kzy + 10z + 6y + 4 = O represents

a pair of lines then : k =

A 12

B.13

C.15

D. 16

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_kVZrusSqA2gT

11. I the angle between the lines az® + zy + by* = 0

is 45°, then

Ca=4b=5
D.a=3,b=2
Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_Rcmuyf6sd6rK

12. If the equation az®+ ay® + 29z +2fy+c=0
represents a pair of lines then

A f2+ g% =ac

B. f2 = ¢°> + acd

C.¢° = f> +ac

D.c? = a® + fg

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_nrzKObXVQdmz

13. If 3h% = 4ab, then the ratio of the slopes of the
lines az? + 2hzy + by? = 0is

A —1:2

B.—3:2

C.1:3

D.2:3

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_wRuQCKVkzdOV

14. Lines represented by the  equation

5z® — 2xy + 2y> = O are

A. Imaginary
B. Coincident
C. Real

D. Perpendicular

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_pkArd30qlV7a

15. If one of the lines kz? + zy — y® = 0 bisects an
angle between the co-ordinate then: k =

A. 0,2

B.1,2

C.—1,2

D. 2,3

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_JoYlppMw0AKw

16. Measure of angle between the lines

\/ﬁ(acz + y2) = 4zyis

=3 o3 3 w3y

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_fU3lH5e2fdRB

17. If the angle between the lines 3z — 4y® =0 is

tan 'k, then k =

NI | T NGOCY PN B N BN

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_C9DfVcvOxw07

18. Joint equation of two lines through the origin and
parallel to the pair of lines
22> —xy—y* + 5z +y+2=0is

A2z’ +zy+y =0

B.5x? + zy + 2y* = 0

C. 2z —xy—y2 =0

D.2z% + zy —y? =0

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_bHOOVSSV5Erp

19. If the equation %+ 2hazy+2fy+c=0

represents a pair of lines, then

AfP4+ch=0
B.f2+ch’>=0
C.f2—ch®*=0

D. f2 — 2h? = 0

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_j9Bb3T76TY6w

